G:\LFMSDD\20166\310\MHW3\MHW3.dwg, MHW3, 8/5/2011 10:57:22 AM, sc, DWG To PDF.pc3, 1:1

oRrUN

B-B

HW

b

2'-0" MAX

(2) #4 VERT

#3 TIES

4 x 4x1/2
" 1S COLUMN

6" MIN

Al

ElNAL GRADE
\ N\ > A\

PIER PLAN VIEW

#3 TIES 18" 0.C. MAX—~] [-.-

LOCATE PIER ON NATURAL UNDISTURBED SOIL OR APPROVED STRUCTURAL FILL.

iA

2'—6" MIN

PIER DESIGN BASED ON 1500 PSF MINIMUM SOIL BEARING PRESSURE WITH NO

MINIMUM DEAD LOAD REQUIREMENT. SUBJECT TO CHANGE AFTER INSPECTION BY

COLORADO REGISTERED GEOTECHNICAL ENGINEER.

ALL CONCRETE TO BE TYPE Il 3000 PSI CONCRETE.

ALL REBAR TO BE GRADE 60 REINFORCING REBAR.

LOCATE COLUMNS WITHIN 17 OF CENTERLINE OF PIER.

STRUCTUAL STEEL SHALL BE DETAILED AND ERECTED IN ACCORDANCE WITH THE

AMERICAN INSTITUE OF STEEL CONSTUCTION (AISC) SPECIFICATIONS AND CODE OF

PRACTICE, LATEST EDITION.

WIDE FLANGE STRUCTURAL STEEL SHALL CONFORM TO ASTM A992. TUBE STEEL

COLUMNS SHALL CONFORM TO ASTM A500, GRADE-B.

COLUMN BASE PLATES SHALL BE SET ON 1 4" NON—SHRINK GROUT.

SHOP CONNECTIONS SHALL BE WELDED WITH E70xx ELECTRODES AND GROUND
FIELD CONNECTIONS SHALL BE MADE WITH BOLTS

SMOOTH WHERE EXPOSED.

CONFORMING TO A325N UNLESS OTHERWISE NOTED.

FIELD WELDS SHALL BE

MADE WITH E70xx ELECTRODES. ALL WELDING SHALL BE IN ACCORDANCE WITH
AWS "STRUCTURAL WELDING CODE", LATEST EDITION AND PERFORMED BY A
CERTIFIED, LICENSED WELDER.

(4) 3/4” ¢ ANCHOR BOLTS

16” @ CONCRETE PlER,@

W/8" MIN EMBEDMENT\

NSNS \‘\\

1/2" BASE PLATE

~

Awmawm cems e

(/
\
\
\
\
\-

CL
10”

L 6 x 6 x 1/2” BOTH SIDES
W/ (2) 3/4” A325N BOLTS_\

U

2 1/27
N

_\ 2” 2” 2”

11/2" g VL

”

===

TYP /4

2 1/2

(2) 3/4" A325 BOLTS (BOLTS MUST
<2>HAVE 1-1/2" MINIMUM EDGE DISTANCE)

8" x 8"x 1/2” CAP PLATE WITH/

B-B

100% O.A. WEATHERHOOD
COMBINATION INTAKE WITH

LOW LEAKAGE DAMPERS\

PIER AND BEAM CONNECTION DETAILS

NOT TO SCALE

ANGLED FILTER SECTION-\

FORWARD CURVED
SUPPLY FAN-\

GAS
FURNACE
SECTIONS

s
3

T
%

i
ANONNNNN

N

(L f {1
)

()

4-01/2"

1 7’_ 4”

8

MAU-1 SIDE VIEW

1 /2”=1 ’—O”

7 6 9 12
RE 7/MHW3 (TYP 6) W 8x18 \ ,/' /' ,/'
~8 =5 L=\ LT T \ . ™\
===t === = = e N s _—
6 ~—u| 1 | | YR AR 4
: @ @ : @3‘ @ ” ” '(\ ” \ Jl I - o o o o i_n .
T 6
| g SECURE MAU TO PLATFORM. % % | S = ”8 LA g 2 2/ ﬁ%
| & SEE NOTE 2 (TYP). & & N 18 ~l | 5
| = = = | A 3—=— Ne
| EDGE OF MAU BASE RAIL: AL Fi L SECTION_(IN_PLAN_VIEW)
SEE NOTE 2 (TYP). <2> @ 6 ELEVATION VIEW 10
B— /1. | Br— ’-1\ 1. EXTERIOR WALL
s = = Bt = a i B —H 2. CAULK AND SEAL DUCT CONNECTION AIRTIGHT ALL AROUND
sl N\ sl N\ I/ 3. DUCT
W 8x18 6" MIN 4, CAULK AND SEAL ANGLE AIRTIGHT TO INTERIOR OF WALL SLEEVE
2 <2> " ~-— 5. BOLT ANGLE FRAME TO INTERIOR WALL WITH STAINLESS STEEL
FASTENERS
Lo 1I7, . 6. 2—1/2" X 2—1/2" ALUMINUM ANGLE FRAME, MIN. 1/8” THICK
— 7. 1/2” SOLID ROUND ALUMINUM BAR (TYPICAL)
NOTE 8. WELD BARS TO ANGLES AT BOTH ENDS OF EACH BAR (TYPICAL)
9. 10” MIN., 12” MAX. CLEAR SPACE BETWEEN BARS

@1. * INDICATES DIMENSIONS TO BE VERIFIED WITH EQUIPMENT FURNISHED. DO
NOT PROCEED AND NOTIFY ENGINEER OF RECORD IF LENGTH EXCEEDS 25 FEET.

&2

PLATFORM TO BE 6" WIDER THAN MAU. CONNECT MAU BASE TO PLATFORM
TOP FLANGE WITH 3"x4"x1/4"x0’—4" LONG (LLV) ANGLE BRACKETS AT
CORNERS AND 1'—0" FROM CENTERLINE OF COLUMNS (12 TOTAL). SECURE
VERTICAL LEG TO MAU BASE RAIL WITH (1) 3/4” A325N THROUGH BOLT

CENTERED 2" FROM EDGES OF BRACKET. SECURE HORIZONTAL LEG TO TOP
FLANGE OF BEAM WITH 1/4” FILLET WELD, 3 SIDES.

MAU-1 PLATFORM

NOT TO SCALE

45" RECTANGULAR

TAKE—OFF WITH FLANGE

AND GASKET

OPPOSED BLADE VOLUME
DAMPER

DRUM LOUVER

\\_ PT\ _____

| IS N

——+———

SIMILAR FOR DRUM
LOUVER MOUNTED ON
BOTTOM OF DUCT ¥

LINED 12" x 22"
ALUMINUM STUB DUCT

WITH FLANGE, 14" LONG

INTERNALLY-LINED SUPPLY
DUCT (ROUND OR
RECTANGULAR)

DRUM LOUVER INSTALLATION

NOT TO SCALE

SEAL PERIMETER OF PLENUM PLENUM

TO LOUVER WATERTIGHT\

/UNINSULATED ALUMINUM PLENUM

WELDED SECURITY BARS
(REFER TO DETAIL)

— |

LOUVER~—___

S

RS
A SEA_SIA Y
SV

VINYL GASKET

TR A S WA A EEE T HVEAaEAEE YVa s aaa( ey

l 3P
EXTERIOR WALL
\ APPROXIMATELY 8"

y

EXHAUST PLENUM DETAIL

NOT TO SCALE

THREADED STAINLESS
STEEL FASTENER, TYP.

GREENHECK VCD OPPOSED BLADE DAMPER
OR ENGINEER APPROVED EQUIVALENT.
FRAME AND BLADE MATERIAL SHALL BE
ALUMINUM OR STAINLESS STEEL.

REMOVABLE STAINLESS STEEL
OR ALUMINUM INSECT SCREEN

10. 10" MIN., 12" MAX. CLEAR SPACE BETWEEN BARS
11. SHEET METAL WALL SLEEVE

@12. STANDARD MILL FINISH FOR ALUMINUM CONSTRUCTION.

SECURITY BARS AT WALL OPENING

NOT TO SCALE

24" MAX.
6" MIN.

EXTERIOR WALL

PVC CONDENSATE PlPlNG@

SEAL WALL
PENETRATION
WEATHERTIGHT

CORE DRILL IF CONCRETE OR CMU WALL

FIN

PR T

FINISHED GRADE

FLOOR

CONDENSATE DISCHARGE TERMINATION

NOT TO SCALE

/-GAS SUPPLY

FIN. GRADE

GAS COCK

TEE FITTING
6” DIRT LEG

EQUIPMENT

N

0 \J
(UNDERGROUND GAS'

PRESSURE REGULATOR V

UNION
FLEXIBLE CONNECTOR

GAS PIPNG CONNECTION DETAIL

NOT TO SCALE

N

XREF FILENAME: G:\

BASE DWG: G:\

PLOT STYLE FILE: 1050C.ctb

FILENAME: \G:\LFMSDD\20166\310\MHW3\MHW3.dwg

REVISIONS

DESCRIPTION

NO.@ DATE

04,/22/2011

ISSUED FOR VALUE ENGINEERING REVIEW AND COMMENT

05/17/2011 ISSUED FOR PREPARATION OF CMO

06,/20,/2011

ISSUED FOR BUILDING PERMIT SUBMITTAL TO PPRBD (HEADWORKS BUILDING)

FN) %) TN N

08,/05,/2011

ISSUED FOR CONSTRUCTION PER PPRBD BUILDING PERMIT #68510 (HEADWORKS BLDG)

THIS DRAWING IS THE
PROPERTY OF GMS, INC.,
AND IS NOT TO BE RE-
PRODUCED, MODIFIED OR
USED FOR ANY OTHER
PROJECT OR EXTENSION
OF THIS PROJECT EXCEPT
BY AGREEMENT WITH THIS
COMPANY.

©
2010 GMS, INC.

MECHANICAL SCHEDULES AND DETAILS

HEADWORKS BUILDING
HAROLD D. THOMPSON REGIONAL WATER RECLAMATION FACILITY
LOWER FOUNTAIN METROPOLITAN SEWAGE DISPOSAL DISTRICT

DRAWN JH
DESIGNED CF
CHECKED

DATE 04/11/2011
PROJECT NO.__20166.352
GMS FILE NO. 2599

GMS, INC.

CONSULTING ENGINEERS
611 N. WEBER, SUITE 300
COLORADO SPRINGS, COLORADO 80903 -—

SHEET

MHW-3




